
 1
.1

3 

 3
.6

3 

 1.06 
A

A

2X 1/4-18 NPT
SUPPLY PORTS

9

12

3

4

3.
00

1.
50

3.00
1.50

2.8750- .000
+.001

1.4375- .0000
+.0005

2X .376 DOWEL 
LOCATING HOLES

4X 3/8-16
MTG HOLES

1

2

16

4.00 SQ

 1
.1

3 
 2

.5
0 

 4
.4

4 
 4

.3
1 

SECTION A-A 
SCALE 1 : 2.5

5

8

6

714

13

15

16

NOTE:
MAX PRESSURE 1350 PSI HYD.1.
APPROX. RADIAL CLAMPING FORCE IS 14.03 2.
X PRESSURE.
ITEMS IN HEX BALLOONS ARE INCLUDED IN 3.
STD. REPAIR KIT 65-20294.

ITEM 
NO.

PART 
NUMBER DESCRIPTION QTY.

1 01-0094 SCREW, SHS, 1/4-20 X 
.375, BLOX 1

2 01-0245-1 SCREW, SHC, #8-32 X 
.875, BLOX, PATCH 2

3 01-0748 SCREW, SHC, SS, 1/4-
20 X 3.50 1

4 01-2080 SCREW, SHC, 3/8-16 X 
1.25, BLOX 4

5 04-01-142 O-RING, BUNA, -142 1
6 04-01-152 O-RING, BUNA, -152 1
7 04-01-231 O-RING, BUNA, -231 1
8 04-01-338 O-RING, BUNA, #338 1
9 04-01-902 O-RING, BUNA, -902 4

10 04-31-142 BACKUP RING, 
PARBAK, BUNA, -142 1

11 04-31-231 BACKUP RING, 
PARBAK, BUNA, -231 1

12 65-0065 PLUP, PRESSURE, CC 4
13 65-0251L BODY, 16C 1
14 65-0252L TOP, 16C 1
15 65-0253 PISTON, 16C 1
16 65-0254 LOCKING NUT, 16C 1

Lexair, Inc.
2025 Mercer RD, Lexington, Kentucky  40511

TH
IS

 D
O

C
UM

EN
T 

A
N

D
 IT

S 
C

O
N

TE
N

TS
 A

RE
 T

HE
 P

RO
PE

RT
Y 

O
F 

LE
XA

IR
, I

N
C

.  
TH

EY
 A

RE
 F

UR
N

IS
HE

D
 T

O
 Y

O
U 

O
N

 T
HE

 F
O

LL
O

W
IN

G
 C

O
N

D
ITI

O
N

S:
 

N
O

 R
IG

HT
 O

R 
LIC

EN
SE

 IN
 R

ES
PE

C
T 

O
F 

TH
IS

 D
O

C
UM

EN
T 

O
R 

ITS
 C

O
N

TE
N

TS
 IS

 G
IV

EN
 O

R 
W

A
IV

ED
 IN

 S
UP

PL
YI

N
G

 T
HE

 D
O

C
UM

EN
T 

TO
 Y

O
U.

   
TH

IS
 D

O
C

UM
EN

T 
O

R 
ITS

 C
O

N
TE

N
TS

 A
RE

 N
O

T 
TO

 B
E 

US
ED

 O
R 

TR
EA

TE
D

 IN
 A

N
Y 

M
A

N
N

ER
 IN

C
O

N
SI

ST
EN

T 
W

ITH
 T

HE
 R

IG
HT

S 
O

F 
LE

XA
IR

, I
N

C
. 

O
R 

TO
 IT

S 
D

ET
RI

M
EN

T 
A

N
D

 A
RE

 N
O

T 
TO

 B
E 

C
O

PI
ED

, R
EP

RO
D

UC
ED

. O
R 

D
IS

C
LO

SE
D

 O
F,

 E
XC

EP
T 

W
ITH

 IT
S 

PR
IO

R 
W

RI
TT

EN
 C

O
N

SE
N

T.

DEC   .00
DEC   .000
FRACTIONAL
ANGLES 

 .015"
 .005"
 1/64"
 1/2

 .030"
 .010"
 1/32"
 1

Tolerances Unless Otherwise Specified:
TYPE                   FINISHED                AS CAST

MATERIAL SPEC.

PROCESS SPEC.

PC. NO.:

MADE FROM:

SHEET NO.

SCALE

APPROX. WT.

RE
VI

SI
O

NS

SHEETSDRAWN CHECKED APRVD.

CAD FILE:

B 65206
65206.slddrw

1 of 1

1:2

 

65206

MBR

02-08-07

CLOSER, COLLET 16C

 

 

B65206

EC
L:

  0
70

23
 0

2-
08

-0
7 

M
JM

MODEL FILE: 65206.sldasm

FINISH 175 µ in. 

16C DEAD LENGTH COLLET CLOSER TOP LOCKING, LEXAIR

02-08-07 02-08-07

MJM TPOR
ED

U
C

ED
 P

R
ES

SU
R

E
R

AT
IN

G
 F

R
O

M
 2

00
0 

TO
 

13
50

 E
C

L-
17

02
1

EC
L-

17
04

7,
 9

-1
1-

17
, S

M
S:

AD
D

ED
 T

O
P 

LO
C

K 
LO

G
O

BA 7.453 LBS


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Alternate Position1
	Section View A-A
	Drawing View8


